

Solution for HW8

23-11-2016

§59) 2) a) Since $f(z) = e^z$, $f^{(n)}(z) = e^z$ and $f^{(n)}(1) = e$.

So the Taylor series at $z=1$ is given by

$$f(z) = \sum_{n=0}^{\infty} \frac{f^{(n)}(1)}{n!} (z-1)^n = e \sum_{n=0}^{\infty} \frac{(z-1)^n}{n!}$$

$$b) e^z = e^{z-1} \cdot e = e \sum_{n=0}^{\infty} \frac{(z-1)^n}{n!}$$

$$8) \cos z = -\sin\left(z - \frac{\pi}{2}\right) = -\sum_{n=0}^{\infty} \frac{(-1)^n (z - \frac{\pi}{2})^{2n+1}}{(2n+1)!} = \sum_{n=0}^{\infty} \frac{(-1)^{n+1} (z - \frac{\pi}{2})^{2n+1}}{(2n+1)!}$$

$$\begin{aligned} 13) \frac{1}{4z - z^2} &= \frac{1}{4z} + \frac{1}{4(4-z)} \\ &= \frac{1}{4z} + \frac{1}{4^2 \left(1 - \frac{z}{4}\right)} \\ &= \frac{1}{4z} + \frac{1}{4^2} \sum_{n=0}^{\infty} \left(\frac{z}{4}\right)^n \\ &= \frac{1}{4z} + \sum_{n=0}^{\infty} \frac{z^n}{4^{n+2}} \end{aligned}$$

$$\begin{aligned} \S 62) 17) f(z) &= z^2 \sin\left(\frac{1}{z^2}\right) = z^2 \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \left(\frac{1}{z^2}\right)^{2n+1} = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \frac{1}{z^{4n}} \\ \Rightarrow f(z) &= 1 + \sum_{n=1}^{\infty} \frac{(-1)^n}{(2n+1)!} \frac{1}{z^{4n}} \end{aligned}$$

$$\begin{aligned} 3) f(z) &= \frac{1}{1+z} = \frac{1}{z} \frac{1}{1+\left(\frac{1}{z}\right)} = \frac{1}{z} \sum_{n=0}^{\infty} \left(-\frac{1}{z}\right)^n = \sum_{n=0}^{\infty} \frac{(-1)^n}{z^{n+1}} \\ \Rightarrow f(z) &= \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{z^n} \end{aligned}$$

4) On $0 < |z| < 1$,

$$f(z) = \frac{1}{z^2} \frac{1}{1-z} = \frac{1}{z^2} \sum_{n=0}^{\infty} z^n = \frac{1}{z^2} + \frac{1}{z} + \sum_{n=2}^{\infty} z^{n-2}$$

On $1 < |z| < \infty$, we have $\frac{1}{|z|} < 1$.

$$f(z) = \frac{1}{z^2} \cdot \frac{1}{1-z} = \frac{-1}{z^3} \cdot \frac{1}{1-\frac{1}{z}} = \frac{-1}{z^3} \sum_{n=0}^{\infty} \left(\frac{1}{z}\right)^n = - \sum_{n=3}^{\infty} \frac{1}{z^n}$$

6) On $0 < |z-1| < 2$, we have $\frac{|z-1|}{2} < 1$.

$$\begin{aligned} \frac{z}{(z-1)(z-3)} &= \frac{(z-1)+1}{(z-1)(z-3)} \\ &= \frac{1}{z-3} + \frac{1}{(z-1)(z-3)} \\ &= \frac{-1}{2-(z-1)} - \frac{1}{(z-1)(2-(z-1))} \\ &= \frac{-1}{2} \left(\frac{1}{1-\frac{z-1}{2}} + \frac{1}{(z-1)(1-\frac{z-1}{2})} \right) \\ &= \frac{-1}{2} \left(\sum_{n=0}^{\infty} \left(\frac{z-1}{2}\right)^n + \sum_{n=0}^{\infty} \frac{\left(\frac{z-1}{2}\right)^n}{(z-1)} \right) \\ &= \frac{-1}{2} \left(\sum_{n=0}^{\infty} \frac{(z-1)^n}{2^n} + \sum_{n=0}^{\infty} \frac{(z-1)^{n-1}}{2^n} \right) \\ &= \frac{-1}{2} \left(\sum_{n=0}^{\infty} \frac{(z-1)^n}{2^n} + \frac{1}{2} \sum_{n=0}^{\infty} \frac{(z-1)^{n-1}}{2^{n-1}} \right) \\ &= \frac{-1}{2} \left(\sum_{n=0}^{\infty} \frac{(z-1)^n}{2^n} + \frac{1}{2} \sum_{n=0}^{\infty} \frac{(z-1)^n}{2^n} + \frac{1}{z-1} \right) \\ &= -\frac{3}{2} \sum_{n=0}^{\infty} \frac{(z-1)^n}{2^{n+1}} - \frac{1}{2(z-1)} \\ &= -\frac{3}{2} \sum_{n=0}^{\infty} \frac{(z-1)^n}{2^{n+2}} - \frac{1}{2(z-1)} \end{aligned}$$

8) a) On $|a| < |z| < \infty$, we have $\frac{|a|}{|z|} < 1$.

$$\begin{aligned} \frac{a}{z-a} &= \frac{a}{z} \frac{1}{1-\frac{a}{z}} \\ &= \frac{a}{z} \sum_{n=0}^{\infty} \left(\frac{a}{z}\right)^n \\ &= \sum_{n=1}^{\infty} \left(\frac{a}{z}\right)^n \end{aligned}$$

b) Put $z = e^{i\theta}$. By a),

$$\text{L.H.S.} = \frac{a}{e^{i\theta} - a} = \frac{a}{(\cos\theta - a) + i\sin\theta} = \frac{a(\cos\theta - a) - i\sin\theta}{(\cos\theta - a)^2 + \sin^2\theta}$$

$$\Rightarrow \text{L.H.S.} = \frac{a\cos\theta - a^2}{1 - 2a\cos\theta + a^2} - i \frac{a\sin\theta}{1 - 2a\cos\theta + a^2}$$

$$\text{R.H.S.} = \sum_{n=1}^{\infty} \frac{a^n}{(e^{i\theta})^n} = \sum_{n=1}^{\infty} a^n e^{-in\theta} = \sum_{n=1}^{\infty} a^n \cos n\theta - i \sum_{n=1}^{\infty} a^n \sin n\theta$$

Comparing the real and imaginary parts on both sides, we have

$$\left\{ \sum_{n=1}^{\infty} a^n \cos n\theta = \frac{a\cos\theta - a^2}{1 - 2a\cos\theta + a^2} \right.$$

$$\left. \sum_{n=1}^{\infty} a^n \sin n\theta = \frac{a\sin\theta}{1 - 2a\cos\theta + a^2} \right.$$

∴